NE SM7TEIAI0B ASMFHFLRFEY:3A178

Rt HF74E3A27H

TH

— ] an F 5 A% i BE KE
No. | |KE|T B & - £ B % IE (X% Em (B (géeﬂ;g% T WERE| S0 | 50 IZEE0OHME

o | vat g cos ) 2 — FIRER L=125m a>49Y—,JAYSFET A=58m2 /pOIET
1 IF | KE | ERKEERIE(MEAINERER) =R AERET & A SF 8743000 | R7.7.10 | A |mRLsE ABCD |\Cotsze saET A-om? H—FL—J BT L=13m

. . ~ — - MBIER L=650m #EET V=6m3 @iET L-59m HEI

2 |[I=% AHERER CIR)BBRRTIE(6-2) ERMABRETHE 17,023000 | R7.10.1 | tAK |=[R#hg| ABCD L=61m SEKHIT N-2BF SHET A-193m2
3 |T= RABTHREEETE(6-5TK) ZEHASENLTH 26,838,000 | R7.9.25 | A |&iihizi| ABCD g;iébgﬁ_ﬁ’k*ﬁﬁwl L=383m SET A=1028m2 #BEH
4 | I CREHLEEHEERISE =RMBERAETEL 4227000 | R7.8.12 | BR |mHA£iE| CDE AEBBACTES BATERMI N=8F HBUALTHETL N=sZ




